
Yamaha Rhino Rear Bumper 

P/N: 10963 

Fits: 2006+ 450, 660, and 700 EFI 

Includes: 

1. (1) Rear Bumper 

2. (2)  Mounting Brackets (LH & RH) 

3. (4) 3/8 x 1” Black Carriage Bolts 

4. (4) 3/8 x 1 Flange Head Bolt 

5. (8) 3/8 Flat Washer 

6. (8) 3/8 Nylon Nuts 

We do have an install video on our web-

site 
Installation: 
 
1. Bolt Mounting brackets to the bumper using 3/8 x 

1” carriage bolts.  The flanges on the top of the 
bracket should face in towards each other.  Do 
not tighten; you will need slop for the next 
step. 

2. Remove only the cotter pins from both of the pins 
that attached the bed to the frame.  Slip the front 
hole of the mtg. bracket over the pins and replace 
the cotter pins. 

3. Swing the assembly up to your bed.  From under-
neath your cargo bed mark the holes to be drilled 
(.406 Dia., 4 Places).  Swing your bumper down 
back out of the way.   

4. Drill your holes through your bed.                           
NOTE:  Drill only one hole then fasten to hold 
in place while drilling other 3 holes.  

5. Using the 3/8” x 1” bolts and 3/8” washers and 
nuts; fasten the assembly to the bed.  The bolts 
should go down through the bed and nuts on the 
underside.   


